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1 X r&E r&E + K& 1
2 * r&E r&E B K& 2
3 ® r&E r&E Al JEEH 3
4 £ r&E r&E x 0%:5 4
5 B %3 EEINS x K& 5
6 A %3 %5 x & 6
7 x %3 r&E € & 7
8 * %3 %5 + & 8
9 * %3 %5 B & 9
10 (& %3 r&E A K& 10
1 + %3 %5 x K& 11
12 (& %3 %5 * K& 12
13 |8 %3 %5 x K& 13
14 (% %3 %5 € %3 14
15 |x| EEA "&E + %3 15
16 (* %3 %5 B %3 16
17 (= %3 %5 A %3 17
18 (= %3 %5 x %3 18
19 (= %3 %5 x| EEIHE 19
20 |8 %3 %5 x %3 20
21 x %3 %5 € %3 21
22 |x EEIH "E £ EEIH 22
28 |x rE ~&E B rE 23
4 e rE ~&E A rE 24
% | rE ~&E % K& 25
26 = K& EER * %3 26
21 |n rE ~&E * rE 27
28 (% rE ~&E & K& 28
29 x EENE rE 29
3 | rE rE 30
i (e rE rE 31
WA 3 3
BAKE 0 0 0
B - ANKE 0 0 0
thikE 28 26 28
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18 2R 3A
1 * *hE EEA B r&E 1
2 * *hE rE A & 2
3 ® *hE EEA x| EEA 3
4 £ *hE EEA x| EEIE 4
5 8 hE EBHE ® & 5
6 A hE EBHE ® r&E 6
7 Py *hE EBHE + & 7
8 * hE EBHE A & 8
9 x| EENA YNEw r&E 9
10 |& EEA AXKR= (x| EFEHE 10
"= hE & X & 11
12 B rE rE x| EENAE 12
13 |a hE EBH ® r&E 13
14 (% rE rE = EENA 14
15 |x hE rE 8 hE 15
16 |x| EEA rE A hE 16
17 |& EEHE rE x| EENA 17
18 |= hE rE * hE 18
19 |= hE rE x| EENA 19
20 |8 EEIA & ® & 20
2 |x  FEEA EEA x| EEA 21
2 |x| EEA rE B & 22
2 || FEEA rE A & 23
24 |2 FFA rE x| FEENA 24
5 |t FEEA EEE * & 25
26 |= RE rE x  EENA 26
21 |8 EEA EEE & & 21
8 (x| FEEA rE £ EENA 28
29 (x| EEA EEE B & 29
3 (x| EEA & 30
3 |2 FEEA EEB 31
AmE 15 12
BRXAR 0 2 0
AN - WENY 0 0 0
thaE 16 15 19
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18 2R 3A
1 * K& £ EENA x  EHA 1
2 * *hE B & B rE 2
3 ® *hE Bl EEHE Al EEA 3
4 +  EEIA x| ERENH x| EENA 4
5 B rE x| EENH x| EBA 5
6 A EENE x| EENHE ® rE 6
7 x| EENA g ARXKE |e K& 7
8 x| EBH £ EHHE x| EEA 8
9 x| EENA R & B & 9
10 |& EEA Al EEHE Al EEA 10
11 +  EENA x| EEHE x| EEA 11
12 B rE x| EENA x| EEIHE 12
13 |a| E#A x & x| EEA 13
14 || JEEIHE & rE & EEHE 14
15 |x| EEA + rE x| EEA 15
16 |x| EEA R & 8 & 16
17 | JEEH A rE A EENE 17
18 |+ EFEA X rE x| EENA 18
19 |= rE x rE x| EEA 19
20 (s FEEA x rE x| EEA 20
21 x| EENA & EHHE e EBA 21
22 |x| EEIA £ EEIHE x| EEA 22
28 |x| EEIA B rE B rRE 23
24 & EEE A EEHE A EEA 24
5 || EEIA x| EEIH x| EENA 25
26 |= *hE x| EEIE x| EEB 26
21 |8l EEIA x| EEIHE x| EEA 21
28 |x| EEIA & EEIE e EEAH 28
29 |x| EEIA EEA 29
30 |x| EEIA rRE 30
3 |2 EEIA EENA 31
AmE 24 16 24
BRXAR 0 1 0
|% - NERE 0 0 0
#ER 7 11 7
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1 * K& *rE B EEA 1
2 * *hE EEA Al EENA 2
3 & RE EEHA x =3 3
4 + *hE rE X% EEIHE 4
5 8 hE EBH ® r&E 5
6 Al EEA & ® & 6
7 x hE EBHE + & 7
8 x| EBH EBHE B r&E 8
9 * *hE rE A RE 9
10 |& EEA EBHE % & 10
1 |z EEA EBHE * r&E 11
12 B rE EENR x  EENA 12
13 |a rE & e EHAH 13
14 (% rE rE = EENA 14
15 |x hE rE 8 RE 15
16 |x| EEE rE A EENE 16
17 |& EEHE rE x & 17
18 |= hE rE x| EEIHE 18
19 |= hE rE ® hE 19
20 (s EENE rE & EEIA 20
21 x rE JEENR £ EENA 21
2 |x| EEA EEE A & 22
28 % RE rE Al EENHE 23
24 |2 FFA EEE % & 24
25 |t RE rE x| EEIE 25
26 |= *hE EEE * & 26
21 |8 EEA rE & EEHE 21
28 % *hE EEE + & 28
29 (x| EEA EEE B & 29
30 |% RE EEB 30
3 |2 FEEA EEB 31
AmE 12 15
BRXAR 0 0 0
|% - NERE 0 0 0
thaE 19 15 16
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1 * K& *rE B EEA 1
2 * *hE EEA 8 AKXKE | 2
3 ® *hE EEA x| EEA 3
4 +  EEIA EBH x| EEIE 4
5 Bl EENA EBH * r&E 5
6 Al EEA EBHE ® & 6
7 % hE AXKE | & 7
8 x| EBH & B r&E 8
9 x| EENA EBHE A & 9
10 |& EEA EEA x| EEA 10
1 |z EEA EEA x| EBA 11
12 B rE EENR x  EENA 12
13 |a rE & e EHAH 13
14 | hE rE + hE 14
15 |x rE rE Bl EENA 15
16 |x| EEE rE A EENE 16
17 |& EEHE rE x| EENA 17
18 |+ EFEA rE x| EEA 18
19 |= hE rE ® hE 19
20 (s EENE rE & EEIA 20
2 |x  FEEA EEA x| EEA 21
2 |x| EEA EEE A & 22
28 % RE EEA Al EEA 23
24 |2 FFA EEE % & 24
5 |t FEEA rE x| EEIE 25
26 |8 EEA EEE x| EEA 26
21 |8 EEA EEE e EHAE 21
28 % *hE EEE + & 28
29 (x| EEA EEE 8l EENA 29
3 (x| EEA EEB 30
3 |2 FEEA EEB 31
AmE 20 20
BRXAR 0 1 1
|% - NERE 0 0 0
thaE 11 11 10
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1 * *hE rE B rE 1
2 ® K& RE A EEA 2
3 ® *hE EEA x| EEA 3
4 £ *hE EEA x| EEIE 4
5 8 hE EBH ® & 5
6 Al EEA EBHE ® & 6
7 x| EENA EBHE + & 7
8 x| EBH EBHE B & 8
9 x| EENA & A & 9
10 |& EEA EBHE % & 10
11 + rE rE x| EENH 11
12 B rE EENR x  EENA 12
13 |a rE & e EHAH 13
14 (% rE rE = EENA 14
15 |x hE rE 8 RE 15
16 |x| EEE rE A EENE 16
17 |& EEHE rE x| EENA 17
18 |= hE rE x| EEIHE 18
19 |= hE rE ® hE 19
20 (s EENE rE & EEIA 20
21 x| EEIA EENH = & 21
2 |x| EEA EEE A & 22
2 || FEEA rE Al JEENA 23
24 |2 FFA rE x| FEENA 24
5 |t FEEA EEE x| EEB 25
26 |= *hE EEE x| EEA 26
21 |8 EEA EEE e EHAE 21
8 (x| FEEA EEE + & 28
29 (x| EEA EEE B & 29
3 (x| EEA EEB 30
3 |2 FEEA EEB 31
AmE 18 18
BRXAR 0 0 0
|% - NERE 0 0 0
thaE 13 14 13
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18 2R 3A
1 * *hE rE B rE 1
2 ® K& RE A EEA 2
3 ® *hE EEA x| EEA 3
4 + *hE EEA * r&E 4
5 8 hE EBH ® r&E 5
6 Al EEA EBHE ® & 6
7 x| EENA EBHE + & 7
8 x| EBH & B r&E 8
9 x| EENA & A & 9
10 |& EEA EBHE % & 10
"= hE & X r&E 11
12 A K& EBAE X rE 12
13 |a rE & e EHAH 13
14 (% rE rE = EENA 14
15 |x hE rE 8 RE 15
16 |x| EEE rE A EENE 16
17 |& EEHE rE x| EENA 17
18 |= hE rE x| EEIHE 18
19 |= hE rE ® hE 19
20 |8 EEIA & ® & 20
21 x| EEIA EENH = & 21
2 |x| EEA EEE A & 22
2 || FEEA rE Al JEENA 23
24 |2 FFA rE x| FEENA 24
25 |t *hE EEE x| EEB 25
26 |= *hE EEE x| EEA 26
21 |8 EEA EEE e EHAE 21
8 (x| FEEA EEE + & 28
29 (x| EEA EEE B & 29
3 (x| EEA & 30
3 |2 FEEA & 31
AmE 17 12
BRXAR 0 0 0
|% - NERE 0 0 0
thaE 14 15 19
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18 2R 3A
1 * *hE rE B rE 1
2 * *hE & A rE 2
3 & *hE rE x| EENH 3
4 + *hE EEA * r&E 4
5 B *hE rE ® K& 5
6 A *hE rE ® K& 6
7 % *hE rE + K& 7
8 * *hE rE B K& 8
9 * *hE rE A RE 9
10 | hE & ® & 10
"= hE & X r&E 11
12 |= hE & ® & 12
13 |A hE & ® & 13
14 | hE rE + hE 14
15 |x hE rE 8 RE 15
16 |* hE rE A hE 16
17 |2 rE rE x| EENA 17
18 |= hE rE * hE 18
19 |= hE rE ® hE 19
20 |8 hE rE ® hE 20
2 |x|  EEIA & + & 21
22 |x *hE rE B *rE 22
28 % RE rE A *rE 23
U |2 RE rE x| FEENA 24
25 |t *hE EEE * & 25
26 |\ RE rE ® *rE 26
21 |a *hE rE & *rE 21
8 (x| FEEA rE + rRE 28
29 |x *hE rE B *rE 29
30 |* *hE *rE 30
M | *hE *rE 31
AmE 2 2 3
BRXAR 0 0 0
|% - NERE 0 0 0
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1 * *hE rE B rE 1
2 ® K& RE A EEA 2
3 & RE EEHA x =3 3
4 + *hE rE X% EEIHE 4
5 8 hE EBH ® r&E 5
6 A *hE rE ® K& 6
7 % *hE rE + K& 7
8 * *hE rE B K& 8
9 * rE & Al EEA 9
10 (= *hE EBHE x & 10
11 + rE rE x| EENH 11
12 A K& EBAE X rE 12
13 |A hE & ® & 13
14 | hE rE + hE 14
15 |x| EEA & 8 rE 15
16 |* rE rE Al EEA 16
17 |2 K& EENR x & 17
18 |= rE rE x| EEA 18
19 |= hE EEHE ® hE 19
20 |8 EEIA & ® & 20
21 | hE rE + hE 21
2 |x| EEA rE 8 rRE 22
28 % RE rE Al EENHE 23
4 |2 *hE rE x *rE 24
25 |t RE rE x| EEIE 25
26 |= *hE EEE * & 26
21 |8 EEA rE & & 21
28 | *hE rE + *rE 28
29 (x| EEA rE B & 29
30 |% RE EEB 30
M | *hE *rE 31
AmE 5 7 9
BRXAR 0 0 0
|% - NERE 0 0 0
thaE 26 22 22
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18 2R 3A
1 * *hE rE B rE 1
2 ® K& RE A EEA 2
3 ® *hE EEA x| EEA 3
4 + *hE EEA * r&E 4
5 8 hE EBH ® r&E 5
6 Al EEA & ® & 6
7 x| EENA EEA + BEERER 7
8 x| EBH & B r&E 8
9 * *hE rE A RE 9
10 |& EEA EBHE % & 10
1 |z EEA & X K& 11
12 A K& EBAE X rE 12
13 |a rE & e EHAH 13
14 (% rE rE = EENA 14
15 |x hE rE 8 RE 15
16 |x| EEE rE A EENE 16
17 |& EEHE rE x| EENA 17
18 |= hE rE x| EEIHE 18
19 |= hE rE ® hE 19
20 |8 EEIA & ® & 20
21 x| EEIA EENH = & 21
2 |x| EEA rE 8 rRE 22
28 % RE rE Al EENHE 23
24 |2 FFA rE x| FEENA 24
25 |t *hE EEE x| EEB 25
26 |= *hE EEE * & 26
21 |8 EEA rE & EEHE 21
8 (x| FEEA EEE + & 28
29 (x| EEA EEE B & 29
30 |% RE EEB 30
3 |2 FEEA EEB 31
AmE 15 13
BRXAR 0 0 0
|% - NERE 0 0 1
thaE 16 18 17
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18 2R 3A
1 * *hE rE B rE 1
2 * *hE rE A K& 2
3 & *hE rE ® rE 3
4 + *hE rE * & 4
5 B *hE rE ® K& 5
6 A *hE rE ® K& 6
7 % *hE rE + K& 7
8 * *hE rE B K& 8
9 * *hE rE A RE 9
10 | hE & ® & 10
1 |z EEA & X K& 11
12 |= hE & ® & 12
13 |A hE & ® & 13
14 (% rE rE = EENA 14
15 |x hE rE 8 RE 15
16 |* hE rE A hE 16
17 |2 hE rE * hE 17
18 |= hE rE * hE 18
19 |= hE rE ® hE 19
20 |8 hE rE ® hE 20
21 | hE rE + hE 21
22 |x *hE rE B *rE 22
28 % RE rE A *rE 23
4 |2 *hE rE x *rE 24
% £ RE rE * *rE 25
26 |\ RE rE ® *rE 26
21 |a *hE rE & *rE 21
28 | *hE rE + *rE 28
29 |x *hE EEE B & 29
30 |* *hE *rE 30
M | *hE *rE 31
AmE 1 1 1
BRXAR 0 0 0
|% - NERE 0 0 0
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18 2R 3A
1 * *hE EEA B r&E 1
2 * *hE AXK= (7| EFAE 2
3 & *hE rE x| EENH 3
4 + *hE rE X% EEIHE 4
5 B hE EBH x| EEA 5
6 Al EEA EBHE ® & 6
7 % *hE rE + K& 7
8 x| EBH & B r&E 8
9 x| EENA & Al EEA 9
10 |& EEA EEA x| EEA 10
11 = BEHER *rE x| EENH 11
12 |a| EEIA EEA x| EEA 12
13 |A hE & ® & 13
14 | hE rE + hE 14
15 |x hE rE 8 RE 15
16 |* rE rE Al EEA 16
17 |2 rE rE x| EENA 17
18 |+ EFEA rE x| EEA 18
19 |= rE rE x| EEA 19
20 |8 EEIA & ® & 20
21 x| EEIA rE x & 21
2 |x| EEA EEE A & 22
2 || FEEA rE Al JEENA 23
U |2 RE rE x| FEENA 24
5 |t FEEA EEE x| EEB 25
26 |= *hE EEE x| EEA 26
21 |8 EEA EEE & & 21
8 (x| FEEA rE £ EENA 28
29 (x| EEA rE B & 29
3 (x| EEA EEB 30
M | hE EEB 31
AmE 15 19
BRXAR 0 1 0
|% - NERE 1 0 0
thaE 15 19 12
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18 2R 3A
1 * *hE EEA B r&E 1
2 ® K& RE A EEA 2
3 & RE EEHA x =3 3
4 + *hE rE x| GEBIAE 4
5 A EEA EBAE x K& 5
6 A hE & e EHAH 6
7 ® K& EBA £ EEIR 7
8 * hE EBHE A & 8
9 * *hE & A *h&E 9
10 ® EEA EBAE * K& 10
1 |z EEA & X & 11
12 A K& EBAE X RE 12
13 |8 E@A & ® & 13
14 (% K& EENR + & 14
15 * RE EEA A RE 15
16 |* hE rE Al EEA 16
17 & EEA EEA * K& 17
18 ES EEA rE * EEIA 18
19 Bl AXKX= EEA x K& 19
20 (s EENE rE & EEIA 20
21 x rE JEENR £ EENA 21
2 |x| EEA EEE A & 22
28 % RE rE Al EENHE 23
24 |2 FFA EEE % & 24
25 £ EEIA rhE * EENA 25
26 |= *hE EEE * & 26
21 A EEIA rhE & EENA 27
28 * RE EEA £ EENA 28
29 (x| EEA 8 & 29
3 |* RE A *h&E 30
N |e| =E®A h «  HE |
AmE 13 16 12
AXAR 1 0 0
|% - NERE 0 0 0
thaE 17 12 19




18 2R 3A
1 * *hE rE B rE 1
2 ® K& RE A EEA 2
3 & RE EEHA x =3 3
4 + *hE rE * & 4
5 B *hE rE ® K& 5
6 Al EEA EBHE ® & 6
7 % *hE rE + K& 7
8 * *hE rE B K& 8
9 x| EENA & A & 9
10 (= *hE EBHE x & 10
1 |z EEA & X K& 11
12 |= hE & ® & 12
13 |a hE EBHE e EHAH 13
14 (% rE rE = EENA 14
15 * K& EEA A RE 15
16 | EEIA rE A EENE 16
17 |&| EEA EEHE X hE 17
18 |= hE rE * hE 18
19 |= rE rE x| EEA 19
20 (& hE EEHE e EHAH 20
21 | hE rE + hE 21
22 |x *hE rE B *rE 22
28 % RE rE Al EENHE 23
4 |2 *hE rE x *rE 24
25 |= *hE rE x *rE 25
26 |\ RE rE ® *rE 26
21 |8 EEA EEE & & 21
28 | *hE rE + *rE 28
29 |x *hE rE B *rE 29
3 (x| EEA & 30
M | *hE *rE 31
AmE 7 8 7
BRXAR 0 0 0
|% - NERE 0 0 0
thaE 24 21 24
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18 2R 3A
1 * *hE rE B rE 1
2 ® K& RE A EEA 2
3 ® *hE EEA x| EEA 3
4 + *hE rE X% EEIHE 4
5 8 hE EBH ® r&E 5
6 Al EEA & ® & 6
7 x hE EBHE x| EEA 7
8 x| EBH & Bl EENA 8
9 * rE & Al EEA 9
10 |& EEA EEA x| EEA 10
11 + rE rE x| EENH 11
12 B rE EENR x  EENA 12
13 |& EENE rE & EEIA 13
14 (% rE rE = EENA 14
15 |x| EEA & 8 rE 15
16 |* rE rE Al EEA 16
17 |& EEHE rE x| EENA 17
18 |= rE rE x| EEA 18
19 |= rE rE x| EEA 19
20 (s EENE rE & EEIA 20
21 x rE rE = EENA 21
2 |x| EEA rE 8 rRE 22
28 % RE rE Al EENHE 23
24 |2 FFA EEE x| EENA 24
25 |t *hE EEE x| EEB 25
26 |= *hE EEE x| EEA 26
21 |8 EEA EEE e EHAE 21
28 % *hE EEE | EEA 28
29 (x| EEA EEE B & 29
30 |% RE EEB 30
3 |2 FEEA EEB 31
AmE 12 25
BRXAR 0 0 0
|% - NERE 0 0 0
thaE 19 18 6
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18 2R 3A
1 * *hE rE B rE 1
2 * *hE & A rE 2
3 & *hE rE ® rE 3
4 + *hE rE * & 4
5 B *hE rE ® K& 5
6 A hE EBHE ® & 6
7 % *hE rE + K& 7
8 * *hE rE B K& 8
9 x| EENA & A & 9
10 | hE & ® & 10
"= hE & X r&E 11
12 |= hE & ® & 12
13 |A hE & ® & 13
14 | hE rE + hE 14
15 |x hE rE 8 RE 15
16 |x| EEA rE A hE 16
17 |2 rE rE x| EENA 17
18 |= hE rE * hE 18
19 |= hE rE ® hE 19
20 |8 hE rE ® hE 20
21 | hE rE + hE 21
22 |x *hE rE B *rE 22
2 || FEEA rE A & 23
4 |2 *hE rE x *rE 24
25 |= *hE rE x *rE 25
26 |\ RE rE ® *rE 26
21 |A *hE EEE & & 21
28 | *hE rE + *rE 28
29 |x *hE rE B *rE 29
3 (x| EEA & 30
M | *hE *rE 31
AHE 4 1
BRXAR 0 0 0
W AEEE 0 0 0
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